EE 302 Problem Set 22
Complete the following problems from the textbook Principles of Electronic Communication Systems, 3rd ed. 
Chapter 11
Problems: 2, 5, 6, 7
Additional Problems
1.  Binary numbers can be used to represent arbitrary symbols.  Find the number of binary digits (bits) required to represent just these four symbols:  A, B, C, and D.  
2.  Find the number of bits required to span just these five symbols:  A, B, C, D, and E.

3.  Perhaps you intuited the answers for (1) and (2). 
If so, use the equation Nbits-required = log2(Nsymbols) to prove your answers for 1 & 2.

4.  College level literacy requires the use of approximately 5000 characters in either Chinese or Japanese.  Using the same method as in (3), calculate the number of bits required to encode a Chinese character.  Now, calculate the number of bytes required per Chinese character.

5.  Assume that, in English, 4.5 letters per word are used on average.  Assume that in Chinese, 2 characters per word are used (common words require only one character).  A document written in English, but translated to Chinese would likely require fewer/more bytes of memory storage.









